N of associated (recoToSim) looper tracks vs normalized X’

) tracks vs normalized x?

recoToSim)

[{

16 18 20

14

berset

12

track x?

18 20
track x2

2 4 6 8 10 12 14 16

5
syoeJ) aredydnp oney

o

10 12 14 16 18 20

8

0 2 4 6

[N o associated

zed X2 |

ck vs normal

Ly
=) —

[N of reco tra

track x2

o
syoeu axe] oney

0 =] =] ,m L 0.
wV_om\_mﬂ:ﬂ oney

02
NS
00 X
— O
3
© =
—
<
—
0
o
S
o
—
0 ‘
o
© "
s
2
~ ]
g
[ A | N 9
i P i i L 8
ST NPPRE NP TP W i do e
2 3 3 = e >
syoer™ oney z




	Contents
	Page 1


